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Find the value of the pronumerals in each of the following, correct to 1 dec. pl. where necessary;





6





60°25





p 





110





44°55’





m 





t





40°50





500





i





33°44’





4250





340





33°40’





e





125





57°16’





u 





45





38°30’





l





55





41°53’





h





100





25°35’





a 





70





44°10’





n





70





22°58’





d














c 





38°4’





49





135





46°36’





b





175





48°40’





k 





43.7





65°38’





q





425





76°32’





r 





4.2





61°38’





g





35





57°28’





q 





600





71°25’





j





260





39°54’





f 








